ATIL— Caravan [##1%/ X [B%y2=7 [JOKERS fs = 2F | DSC | Bfz
Caravan 3X9 605 2X6 1 2 12431 3
HTHE AR / 7K 903 1002 2X9 2 1 18.8 2
=X S Ry 5X6 2X10 60Ob 1 2 98.3 4
JOKERS 602 902 HbX6 2 1 36.8 1

B/IL—7 SUGAR |Frragile [Hot Shot! |[¥—4Z=R i =l DSC | Bz
SUGAR 604 3X8 1006 2 1 90.5 2
Fragile 4X6 3X7 802 1 2 57.9 3
Hot Shot! 803 703 504 3 0 64 1
F—LZR 6X10 2X8 4X5 0 3 93.3 4

Cr/IL—7 |.C.E. Arc HEH B [saxravzee| B = DSC | JEfz
|.C.E. 1101 605 901 3 0 129.6 1
Arc 1X11 5A5 1100 1 1 1 56.4 2
L b HbX6 5A5 8O3 1 1 1 11.2 3
IR IV ICC 1X9 O0X11 3X8 0 3 164.7 4




